R3GTHl BELARITHH Ty

HE%
AYEa2—2YFT7(1A)
WENF | (1AB))
EHCAD | (2A)
EEEEE | (2A)

EE - TR LF—-T%(2A)
BENZEN(2A)
ERTENFROEE(2A)
EERT(2A - 3D)
REHE (2A)

%5 U TEIINEA)
AR R (3A)
BBEGA)

#7% - MEETE (3A)
ETFAEEL(3A)

EIR=%-4 &N 2 Bk x4 BRk X6 Bl BRk] %9
35 IS4 | [S5: | IS |6 | ISes | Sec | WNSe0  |ESTT |EEST |
o B3 | BESss | IESss | Esss | lESss | EScT | EESst | EESsi | EESst |
» ESes  |IESss | IS5 | ESss | ESes  |ESs. | lESes  |ESe ST
o BESST | BESie | BES2 | BS2 | BESi | BESTe | EES | ST | EES2 |
o [SST | MES07 | BESos | WSS | ST | Sz | EESe | ESi | EESs |
22 IS4 | S0 | IS | IS | IS | S5 | lESss | lESes | S |
2 S50 | s ] ESss | IESs0 | ST | IS | IESs0 | S | EESes |
s BESes | IS | BESs | IS5 | BSe1 | ESss | MESss S | IESs |
2 BES50 | IS5 | IESs0 | ST | ESeT (S | ST (ST | ESeT |
s BEST2 |IESs | ST |ISTE (ST [EESTs ESe (ST (eSS |
s BESST | IESeT | EESs0 | BESe | NS |IESe (ST [IESet | ESeT |
2 82 | IESis | B2 | EESs: | IEGis | ESos | WSS | S0 | IS
s BESST  |IESs0 | BESe1 | ISeT  |WESer | IESeT | IESeT WS | ESeT
2 BES2 | BESTT | ST | IESs | S | S | IS | eSS | EESs |

rey (0847 |W0sss | Wsss  |Wsso  |WEss4s  |sss [Tsss W44 (WESST

vy (084 [0ss1 | Wss1 | {849 WS4 |8 [T8s2 [EESse |




